flux

Ax? / 0.9185

A? / 0.9187

0

200

100

—100

oy 555 km/s

Fe2 + Continuum Fit
Opep 100 +/— 421 km/s
. ¢ . . : . .

4573 = 0.9185

| 1 1 1 1 | 1 1 | 1 | 1

II I T

i

1500 2000 2500 3000 3500
Rest A (&)
Fe2 Scale Factor x2 Diagnosis
oy 555 km/s 0.01015(99) X2min / 4573 = 0.9185
— T T T T 1 - . B L L [ R
N rm362 MS 0.424 ]
[ MAD 0.337 |
L | L L L | L L | L L L | L L L L
7x1073 8x107° 9x10~2 o.o1 0.012
Fe2 scale factor
Fe2 Velocity Dispersion x2 Diagnosis
g, 100 3045 prior 225 km/s —830(420) X2m.n / 4573 = 0.9185
C T T T I T T T T I T T T T I T T T T I T T T T I T T T T I T T I T T T I_
- rm362 RMS 38.9 -
i MAD 20.4 |
__ 1‘ ‘ Tl __
' kot “W MM ]
' i n.a.mmm Al nnmﬂmﬂﬁlﬁkﬂhmml MIMMM”M Il M | '
C L L L L L | L L L L | L L L L | L L L L | L L L | L L L n
0 1000 1500 2000 2500 3000 3500

Fe2 Dispersion (km/s)



